Geometric Representation of a Complex Number (gl Jiaill
dixal) daadl

(X, y) Wil dhii 08y 7z = x + i dixa 230 JS#
Z = x + yi 1 lade & (X | y) Al g siwal) 8 ddbi JS#
Ex.1. The number 2 + 3i corresponds the point (2, 3)
adad) Y S ) AdaREl) Al g Jua) AdaR Ayl Apiay ALAKS (Say SBaa 2 JS#
7 Lkl Ciual g Adali W S ya 3 600 Jaaaa Ao dad) g Jalii A5 SaBaal) alacy) XS o #
Aalaal) (gasig
z|=r = Jx2+y2=r
x% + y2 =12
G254 Ada 2o 1 Cua
Ex.2. Sketch |z —zy| =71

Letz=x+1iy and zy = xo + iy,

|(x +iy) — (%o +iyo)| =T

|(x = x0) + (¥ —yo)il =1
&AL

(x —x0)*+ (y —yo)? =12
Aaiil) W 3S ya 343 day o3 Jliall prada g

zy = (xo + Yo)



Ex.3. |z| = 2
Letz=x+1iy and |[x +iy| =2
x2+y2=4

2 W jhad Ciialg Jua¥) Adadi W 38 ya B ila
Ex4.lz—2| =5

Letz=x+iyand [x+iy—2|=5

|(x —2)+iy|=5 = (x —2)2 +y?> =25

Circle with center (2, 0) and radius 5

EX.5. |z— (i+1)| =2

Letz=x+1iy
x+yi—(i+1D|=2=|(x-1D+(@y—-1)i|=2
x-1D*+@-1*=4



2 W jhad Ciiaig (1.1) Aalill L S ya 5 sl
Ex6.|z—3i|l=2=r=2 & z,=3.
Letz=x+1iy
lx+yi—3i|l=2=|x+ (y—3)i| =2
x>+ (y—-3)?=4

Ex.7.Im(z) <1 -y<1

Ex.8. (Im(z))2 <Re(z) > y*’<x =y=+x

Ex.9. Re(2z+i—1)>1
Sol.letz=x+yi

Re2(x+yi)+i—-1)>1=2x-1>1=x>1



Ex.10.|z—3| > 2

Sol.letz=x+yi

Ex.11. Rez > 2Imz

Sol.z=x+1iy
x =2y
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Ex.13. |z —4i+ 2| > 2
Sol.letz=x+yi
lx+iy—4i+2|>2
|(x+2)+ (y—4)i| > 2
(x+2)2+(@y—4)?%>4



Ex.14. Im(z) = —1;
is the horizontal line passing through the point —i



Ex.15 Sketch (Draw): Im G) >1

Sol. Letz=x+yi

= ({5 < (52 >
- ()~ (559) ) >

-y 1 1
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<x2+y2)> = y>x“+y =0>x“+y +y+4 7
2
1., 1
1 2 1\
> (x-0) +(y+§>
1
(0,—5)
( 0)2+< +1)2<1
x Y 2 4
Ex.16. Sketch (Draw): |z — 1| = |z + i|
Sol.
|(x — 1) +iy| = |x+ (v + 1)i| = (x—-1)2+y2=x%*+(y + 1)?

x2—2x+1+y?2=x?>+y?+2y+1
—2x =2y = y=—Xx Or y+x=0



